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QUESTION 1

Click the Exhibit button. 

Which two classes can have two or more instances associated with a single instance of X. (Choose two.) 

A. D 

B. A 

C. C 

D. B 

Correct Answer: CD 

 

QUESTION 2

Given: 

1.

 public abstract class Wow { 

2.

 private int wow; 

3.

 public Wow(int wow) { 
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4.

 this.wow = wow; 

5.

 } 

6.

 public void wow() { } 

7.

 private void wowza() { } 

8.

 } 

Which is true about the class Wow? 

A. It does NOT compile because an abstract class must have at least one abstract method. 

B. It does NOT compile because an abstract class CANNOT have instance variables. 

C. It compiles without error. 

D. It does NOT compile because an abstract class CANNOT have private methods. 

E. It does NOT compile because an abstract class must have a constructor with no arguments. 

Correct Answer: C 

 

QUESTION 3

Which two are true about the relationship "A keyboard has 101 keys."? (Choose two.) 

A. This is a many-to-many relationship. 

B. This is a composition relationship. 

C. This is a not a composition relationship. 

D. This is a one-to-one relationship. 

E. This is a one-to-many relationship. 

Correct Answer: BE 

 

QUESTION 4

Which is NOT a characteristic of Swing? 
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A. Swing components can display a platform-independent "look and feel." 

B. Swing components are available in all web browsers. 

C. Swing components can be used to develop J2EE client applications. 

D. Swing components can display a platform-specific "look and feel." 

Correct Answer: B 

 

QUESTION 5

Which two are true about HTML? (Choose two.) 

A. It is used by the browser to display the client user interface. 

B. It can be generated dynamically by servlets. 

C. It is an object-oriented programming language. 

D. It contains APIs that are used to access data in an RDBMS. 

Correct Answer: AB 
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